(PRE UPPER PRIMARY SCHOLARSHIP EXAMINATION (Std. 5"), FEBRUARY 2019\\

Seat No.
0802 ™
Paper No. II Medium : Kannada Time : 3:30pm to 5:00pm
k;?agest 32 Third Language and Intelligence Test  Total Marks : 152)

Read the following instructions carefully before you answer the questions.
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This question paper contains two sections. In Section I there are 1 to 25 questions of Third Language and
in Section Il there are 26 to 75 questions of Intelligence Test. All 75 questions are compulsory.

All questions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given four
alternatives. Read them carefully. Select the correct answer and shade the correct answer in the answer
sheet.

Example :- If the correct alternative for Q. No. 6 is 2, then record you answer as follows :

Question No. 6 0l 160,

Answer recorded in any other form will not be considered. Such answer will be credited with ‘Zero’ mark.

Example : (1) @ @ &

Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will not
be credited.

One you have darkened the circle as correct alternative you cannot change it.

If more than one circles are darkened or overwriting is done, the answer will not be accepted.
The rough work is to be done in the space given under each page or on the last page of the question paper.
If you do not know the answer to any question, do not spend much time on it and pass on to the next one.
If the time permits you can come back to the question which you have left in the first instance and try them
again.

If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre
Incharge.

For any error/mistake/objection issues, school or parents should not send written application to Block
Education Officer or Education Officer. These error/mistake/objection issues should be
register online through respective school login only.

The error/mistake/objection issues should be register online within 10-days from the publication of Interim
answer key on MSCE website.

Questions can be cancelled due to printing mistake of any other reason, on the basis of the
suggestions given by the Committee of Experts.

Along with the question paper of the respective medium, the English version of question paper is also
provided. In case of doubt please refer to the English version of the same question.
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Section I

Q. 1 to Q. 3 Read the passage carefully and answer the following questions.

Poseidon was the Greek god of the sea. He carried trident which was the symbol of his
power. He split mountains with his trident and rolled the broken parts into the sea. He had a
glittering palace in the depths of the Aegeon Sea.

1. 'Who was the Greek god of the sea ?
(1) Poseidon (2) Greek
(3) Aegeon (4) Power
2.  What did Poseidon carry ?
(1) palace (2) trident
(3) depth (4) sea
3.  The trident was the symbol of

(1) idea (2) depth
(3) money (4) power
4.  Choose the correct punctuation mark which is not present in the given box.
> | ?
(1) ? 2)!
' 3); (4) -
® ®
Space for Rough Work
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Complete the word register.

drum, cymbals, flute,

(1) sieve (2) stain
(3) tambourine (4) grater
Look at the greeting card. Read the message. Choose the proper date.
“Dear Teacher (1) On 5th September
We love you (2) On 15th August
So much !” (3) On2nd October
...... Your students. | (4) On 14th November

Find out the odd term.

(1) Cucumber (2) Fenugreek
(3) Spinach (4) Coriander
Select the correct option.

The arrow shows direction.

(1) right (2) upward
(3) left (4) downwards

Select the proper action word.

share \ spill

curd
eat ?
(1) wash (2) cut
(3) peel (4) churn
Space for Rough Work
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10.

11.

12.

13.

She eats breakfast her parents.
(1) off (2) by
(3) with (4) at

Choose the correct alternative.

Tools used by Mechanic.
| | |
drill ? screw nuts
(1) roast (2) space
(3) cylinder (4) spanner

Select the correct answer.

How many letters should be capital in the given sentence.

ilive in aurangabad.
(1) 3
(3) 0

Solve the riddle.

2) 1
4) 2

I use a stethoscope and examine patients.

Whoam1?
(1) amechanic

(3) acobbler

(2) apotter

(4) adoctor

Space for Rough Work
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14.

15.

16.

17.

18.

Choose the correct punctuation mark for the given sentence.

What a great surprise.
(1) Apostrophe

(3) Comma

Complete the motto.
are our friends.
(1) Library

(3) Teacher

Arrange the numbers properly and make a meaningful word.

(2) Exclamation mark

(4) Full Stop

(2) Books
(4) School

o | r e | j u

1 {2 1311415

(1) 1452673
(3) 4152637

(2) 4172635
(4) 1542637

Choose correct alternative to seek a permission.

(1) I'will openthe window

(3) Please open the window

Choose the correct option.

What time is it ?

(2) Openthe window
(4) May I open the window ?

(1) Quarter past three
(2) Quarter past five
(3) Fivepastthree

(4) Three past five

Space for Rough Work
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19. Select the correct alternative

20.

21.

Let'smakea______ for shopping.
(1) list (2) least
(3) lest (4) leest
Fill in the blank by using the correct article.
Eiffel Tower is in Paris.
(1) A (2) The
(3) An (4) No article

Look at the given picture. Choose the correct conversation.

(1) A':The bubbles look so lovely !
B : Let's buy two.
(2) A:Here are your potatoes. Would you like to buy tomatoes ?
B : Sure.
(3) A :Please give us two full glasses.
B : Mamma, [ want some ice in my juice.
(4) A :Doyou like roasted corn cobs ?
B : Oh, I love them with salt.
Space for Rough Work
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22

. Select the correct option.

My number is 12. So I am in the row.
(1) twelth (2) twelfth
(3) twelve (4) tweth
23. Complete the puzzle.
n
q (1) b,I,m
i (2) k,g,i
g & >
rpajng (e (3) i,o,g
r
e 4) v,p,i
e
n
24. Choose the word that comes alphabetically first
(1) Tuesday (2) Friday
(3) Sunday (4) Monday
25. Choose the incorrect pair.
(1) atiny star (2) arichman
(3) arainy day (4) asharp day
Space for Rough Work
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26. 'omoT, ¥nx, ¥%OT, ¥UY, BT ' B T3cdeowd BB 0D FoPPINTO T eaaﬂcmew%
TSR N WOTD BPFIHPHFTTIT T BWROAD. ¥ VFPFIPOFTE JUE SOF,NTO,
WO es#“c’ odRR)we ?

(1) = (2) = (3)n (4)8
@I 27 0o 31 T BoTIN WRWR : moosrt Feow TR noSo2ao.
27. (1) s (2) 2@
(3) B 3T (4) =7
28. (1) OmAF : RomIRS (2) TOTITFH, 1 Tt
(3) BRI : Reoedesssd (4) mORTIS: CRoPHOW

29.

PNy

30. l'—\—_] e L_i_\ ®

(1) @) 3) @)
31. (1) 153 2) 136 (3) 102 4) 115

(1)

23 FOTFN I¥
% v @
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Section 11

26. Make a meaningful word taking the second letter of the given words. 'PLAY, IVY,
HENCE, SCORE, PEAR, FROG' From that meaningful word which letter will be at
the 3rd place from right ?

() E 2)V 3) L (4) R
Q27 to Q31 Direction: Find the odd term
27. (1) Stomach (2) Food Pipe

(3) Small intestine (4) Lungs
28. (1) Rajasthan: Gangapur (2) Maharastra: Patane

(3) Madhya Pradesh: Bhimbetka (4) Gujarat: Langhnaj

29.

(1)

3 -
30. [—i::____] N ‘ii;___]i\ \\[:>>%i;5/

(1) (2) (3) 4)
31. (1) 153 (2) 136 (3) 102 4) 115
Space for Rough Work
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32.  ¥9NF Boanmnddehy BIUR D BYEQ Wi Kosd, oo ?
13,17, 25, 32,37, ?
(1) 47 (2) 42 (3) 45 (4) 46
33. ' 03, Mo, TUIN®, ¥E, WuANM, I ' 81 Fu AWRBRO WoodwrEs KoE
s’z%a&ogm #oo&wa_:ﬁ\d oW s’zoém*o aadwaozs RPN LWy éuuﬁ an ?
(1) 13 times (2) 8 times (3) 7 times (4) 16 times

34. oOn wod aaﬁglwdo. ¥8dn oo aaﬁgtafdo. 0NN RB0¥ aafoﬁdo. oY arlate] 6&3’% =R
FOOI0T T, oIRTHWO ?

(1) =000 (2) 2O (3) e30¥ (4) s

agg 35 doW 39 T moosON B : ag&s{gb T, TP B WoRTY wdﬁ#a’% FATBINT. SRHNSO
go quﬁw. BT300W WTHNY WOWD NOoF) SOINTIMORTO. & MOOAT DROWOT wwwm;
To3RFoddow noTghdad.

35,  TOTow, mﬁ, nwgre
(1) w@z::sd (2) oo (3) teug (4) wo0328eH

36. m:)od, Loy, fwoden
(1) == (2) oD (3) &0 (4) @%

~ HH [AV| |[EE
TT||CIJ|LT|MM

(1) (2) 3) Q)

825 FOTTN 9
% 7 @
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

32.

33.

34.

Find the number which will replace the question mark (?) in the given number series.
13,17, 25, 32,37, ?

(1) 47 (2) 42 (3) 45 (4) 46

'Give me the strength lightly to bear my joys and sorrows.' In the statement how many
times vowels have occurred ?

(1) 13 times (2) 8 times (3) 7 times (4) 16 times

If calf is called cub, cub is called lamb, lamb is called kitten, kitten is called kid, kid is
called puppy then what is the young ones of sheep called ?

(1) kid (2) cule (3) kitten (4) pup

Q35 to Q39 Direction: In each of the following question three words are given with some

common characteristics so their group is formed. Select a word from the options given,
which has the same common feature of the given group.

35. Itching, Cough & Cold, Corn,

(1) cold fever (2) cholera (3) measles (4) dysentery
36. Choir, heap, pile,

(1) humming (2) crowd (3) march (4) mile
~HH| [AV] |[EE

K/ 9
(1) (2) (3) 4)
Space for Rough Work
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38, _

(1)

1 2 1
gl 42 5t
39 47874

4

5____

(1) T

2

6_“

G) 6

1

(2) 55'

1

O

40. %o WONQ FRTIW T,CoPRow 28 Sod Torve TaReNeR 32 Bod BRRIRO, FodWY.
ot MOTY G PINTOTOT BTHOFY &otd WORI aoam;s. TOTEFDF TINW® [OND
[WOUF TFWO, 10 BOWONCROTIZ. HomET & TOTY WA LolRoW TR

BRIRTREO aoémoei 9

(1) 20 o> (2) 18 S
(3) 40 s (4) 19 So
553 FORTN 7Y
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

‘ A
SONIRVO\RYION

) e G) 4)
o bl
0ed ot
6) 6= @ Ty

40. In a queue Kavita's position is 28th from the start and 32rd from the last. In the same
queue Manisha is standing behind Suvarna who is standing in the middle position of
the row. In between Suvarna and Manisha there are 10 girls then what will be the
order of Manisha from the last ?

(1) 20th (2) 18th
(3) 40th (4) 19th
Space for Rough Work
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TP 41 Tone 42 © U0 B @ ©ooor ekl BIE Ry NeOR e Ldwen ¥rY
W,3W0NTY VeORQ et WO WO QOWOTRY &8 3nvors MoBd0.
3

~dq

41,

QO3 TN
¥
1) ®) (3) (4)
2. 3y MP C
emgc’n’e#o
(1) (2) 3) 4)
6@d€®3qh:’£§
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

Q41. and Q42 Direction: If the question figure is held vertical above water surface, identify

its water reflection and select the correct alternative.
41. Question figure

K

Answers figures

A

(M (2) 3) (4)
42. Question figure

MPC
AbC| J9

() @ G) @)
Space for Rough Work

Answers figures
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43. BR8N eFosTINOIN amjﬁaﬁo mo&oa&)mc’% BHRTWT, ¥R TROPFI BnT drwd
BWI, RTE SneT SRE FoIT ¥R wowddd FRTRRTY STONTTD. Y 03T
SEE ol wE wowdn FNERIRY STNTR. ToMRY Bt w3BT JBWAR R 0,
RQTIR WO ?

(1) ®p=e (2) Tyso  (3) WoZT  (4) W

44. BN, INTD TINN TORN QT 4 SIHend SO as’o:fo:foﬂn‘# Wedewo 28 IXF A,
TomWE 4 INFNY ToToE wmT sodomony wdeded R, RTORB ?

(1) 32 (2) 40 (3) 36 (4)52

45, %odeTR Fe [T PO SRIT, Totdeon,  FHY Tod YT, B,8eID PUWwoL
TOMR TWR ST FTonwe DETFR PLWOL WD, YOVT QY eum*wg‘ GTWORRY. TIMTT
WA STWOTTTY oINSy ?

(1) Qexmg oL Totdeors  (2) e F eI (3) wodded WP FSe3 (4) Dems mone S

46. Woow dAB, UBNY TROFY, BBUT o :g;:zsevmomw TN WTNT WIORWO ?

REBA?QH PRQQEA P 2E v
HRAERQ o HHARR
o RAEHR @ KRR

47. 1 ga®Ul976 A" @ OVE 6UY" UR " YA . & U'KOWNF SOBRBH' I Snw dmond
0K IR WO ?
(1) 1 meg2001  (2) 1 wAR2036  (3) 1 WAR 2026 (4) 1 WHT 2025

48. Bl 0¥ 3c0YTOT wWRReINY Tosd, S|, ?

(1) 15 ()21  (3)9  (4)120

49. ¥R BYFROFHOMD BTRE TR RSSO,
3, 11,27, 57, 123, 251
(1) 123 (2) 57 (3) 27 (4) 11

3 FORHN Y
2 %@
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Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

43. During the sunrise, Vishwas started walking that time the sun was to his left. He walked
2 km and turned 90° to his right. Again he walked for a while and turned 90° to his
right, then which direction is to his left now ?

(1) East (2) West (3) North (4) South

44. Total ages of Kavita, Savita and Salma four years before was 28 years, then what will be
the total of their ages four years hence ?

(1) 32 (2) 40 (3) 36 (4) 52

45. Suyash plays cricket and football, Rajendra plays only hockey, Shailesh plays football
and Kabaddi and Deepak plays all sports except football, then who play Kabbadi ?

(1) Deepak and Rajendra (2) Only Shailesh
(3) Suyash and Shailesh (4) Deepak and Shailesh

46. 'Which group of symbols will occur at the place of question mark in the given series of
symbols ?

REA?QH PRQEIA P PEE AR
HRAKERQ o FHARR
6 KAFHR @ WHHER

47. 'Golden Jubilee' celebrations of the school will be on which day whose 'Foundation
Day' is 1st June, 1976 ?

(1) 1 June 2001 (2) 1 June 2036 (3) 1 June 2026 (4) 1 June 2025
48. How many squares are there is the given figure ?

(1) 15 (2) 21 (3) 90 (4) 120
49. Find the odd term of the given number series.

3,11, 27, 57, 123, 251

(1) 123 (2) 57 (3) 27 (4) 11

Space for Rough Work
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50. W 2015 T % W@os, DEk INTeT |BY. TMWS I 2016 T * D DR CIRT =T
QB ?
(1) B8 (2) woiERs (3) ST (4) 088

51. 308, ¢y 3o §3nes wone wWRdnesnY Hosdnvd wgERwen dRFIR) ?

(1) 11 =onwe 7 (2)9=enns ()11 mNnRS5 (4) 11 =onn 3
52. @Yns mmd ma@eombmox agqtaaalox :;;édqq o3nR xfoaa; WOOR)TO ?
121, 169, 225, 289, ?
(1) 334 (2) 400 (3) 246 (4) 361

53. 9YNE ¥y 30 FBordwQ semoonsd Kid SRWOT o, pEND, $ENITY, BB
% BRWT AP Bonwe WISHE, afﬁreaepsﬁ#af% :gawq BT T am@s‘mfaﬂ%
WOFBOING. 573000 JOLFFE TR Feow FPod FTHEY Wednr obdnvow R,

$4wo0NED Wone BRFENCH X SRWT ITHFNY Fod; o ?
M3 @7 )6 (4 s

R FOTFN IS
2 T @
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50.

51.

52.

33.

In 2015, Independence Day was on Sunday. On which day 'Literacy Day' will fall in the
year 2016?

(1) Saturday (2) Wednesday (3) Sunday (4) Friday

Each of the alternatives given below the figure indicate the number of triangles and
quadrilaterals respectively. Observe the figure and choose the correct option. |

(1) 11and7 (2) 9and 5 (3) 1land5 (4) 1land3
Which number will replace the question mark in the given number series.
121, 169, 225, 289 ?

(1) 334 (2) 400 (3) 246 (4) 361

In the given Venn diagram the students who clean the ground are shown in the
circle, those who clean the garden are shown in the triangle and those who
clean the classrooms are shown in the square. Observe the figure and answer
the question by choosing the correct alternative.

How many students clean only ground and the garden ?
(1) 3 2) 7 (3) 6 45

Space for Rough Work
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54. Bt 9T 300QU0N PTYS Boormonyd O, ?

(1) 7 2) 19 3) 16 (4) 20

B 55 DB 568 BUomIN B : BIoPOdk W,Eaged FERMY T dWow Berd FoedRoT)T
QOWTWRY, VI T &8 INvow NOTISLY.
55. ®B

(1) ) 3) (4)

B FOBTN BY
) v @
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34. How many cubicle boxes are there in the given figure ?

(1) 7

)

19

3) 16

(4) 20

Q55 and Q56 Direction: Find out the mirror image of each of the following question figure
from the alternatives given.

55. Question figure

D)

S

>
o\ M

\4
P\

ERYCR

Answers figures

a

DY

A -~/ \/
N ANA VAV
(1 (2) 3) (4)
Space for Rough Work
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ey

¢ogdned

S ECISRED,
(1) (2) (3) 4)

57. #@ud H3T ©F 3000 dRE WaRFoPEO M PrFndecdn NOwRN Browomwe ?

- (1) @3 PuE, 2aiRoch FwEr, AAed

(2) wous, aﬁomcraa-ﬁg, TIOFET

(3) w83, §3ce3, WDV
(4) Boonss, mum@s, 48R

58. @¥nx e-:#oéom %wOTY DO TWFITUW FToW. & TF[O Mogdd BT oD :d@#zz’@m o35
€53 WOORHWO aomdﬁo“ TR oonvorm BRedad ?

bR

w3 one
(1) 2) 3) 4)

F25 OB N T
5] T @
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56. Question figure

€%
013 Y39 ¥EQ ¥3

(1) 2) 3) (4)

S7.  Select the alternative which will match exactly to the Venn diagram given in the question.

(1) Components of food, (2) India, Maharashtra, Karnataka
starchy food, Wheat

(3) Sport, Cricket, Batball (4) Telangana, Rajasthan, Goa

58. In the given figures there is a specific order. Observe the order and find out the
figure to replace the question mark.

AN
AAJJ:J:?
AN AN ,, o

?
Answers figures

B N
AN /
A
(1) 2) 3) (4)
~ Space for Rough Work
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a_u’)s; 59 Dow 63 U Meowoh Bewd : ¥¥ns a@a&ﬁ#@m BRTORK Tonw BB TENYY oo
0e8 Towoplwodee wide 0ed Bowoy WoRTR Tonw moﬁo:b BENYO /W, & Fowoy
nosody WY, UR oD BYRY, woos ddneen; WedRFod SOR0.

SRS | SN

(1) Fort (2) Lighthouse (3) Airways (4) Mine
olofol Pt R
tatcl B K ~ S
0. | NN (@ Svivie
@ OOOOOO |« IS
CRClepts
00
0 ¥ | +130 | + |83 [EA]+
On 1O QO
00|70 | [S91% % |%0| (00 [&P
(D (2) 3) (4)
61. M L ) l/\l __l @é 8 J- Py ?
o[9[ g1
SIS w o[l
62. 8:504::6:7
(1) 222 (2) 216 (3) 210 (4) 209

B3 FOBTN TP
5] ¢ @
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Q59 to Q63 Direction: In the following question the first and second figure have a specific
relationship between them. The same relationship exists between the third and the fourth
figure. Find the correct figure from the alternatives to replace the question mark.

59. % :Monkey: :% : ?

(1) Fort (2) Lighthouse (3) Airways (4) Mine
60. Question figure

ggsg}}%“ {%}{t}@@) o0 DD ‘i‘é’%ﬁé}o 9
(@@ a oo 000 o
@ <>OOOOO OOOO S L R |
Answers figures
- e 0Ql [Oo
& < |30
i oot fotod (Bt
(1) (2) (3) 4)
61.{VL0N__|@;SJ-@?

(1) S_E 2) 8
(3) 8 :\- 4) 2

62. 8:504::6:7?
(1) 222 (2) 216 (3) 210 (4) 209

=

Space for Rough Work

P.T.O.
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63. 241:4124::372:7
(1) 6218 (2) 3214 (3) 6148 (4) 6281

64. B3 :domsmaqu, X530 oFod FoTT XEowod Tonw Twowodod PAmer X wod
&ert aa;fow TO WOREW ?
7,8,3,2,56,4,2,8,7,2,3,6,8,9,4,6

(1) oo (2) Soed (3) ™y, (4) womd

BE 65 Tonw 66 T BLOwoN KA 1 YNT BIog 3t Nowprormon Bromds 83 WolnrobRon
noTodad.

65. B3I, oSN

Y

66.

i
) ) 3) ) }

(D 2) (3) 4)

B3 FORTN I
2] T @
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63. 241:4124::372:7
(1) 6218 (2) 3214 (3) 6148 (4) 6281

64. In the given series, how many times even number is preceded by odd number and is
immediately followed by an even number
7,8,3,2,56,4,2,8,7,2,3,6,8,9,4,6
(1) two (2) three (3) four (4) one

Q65 and Q66 Direction: Find out the figures which exactly matches with the question figure
from the four alternative figures given below.

65 Question Answers

(D

66. Question figure

(2) 3) 4)

Answers figures

(1 (2) 3) 4)

Space for Rough Work
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67. ABCDE FGHIJ KLMNO PQRST UVWXY
FoeOF wone BT PTRSNG wowdW 15 Fod “"i\d e33R0 ?

(1 O 2) L
3) K 4 P
68. TP uBed BYWY 10w Hoad, Wednrod Bwos $OD.

5 1 3 |16
& e v

| 72 45

(1) 25 (2) 10
(3) 61 4) 20

69. om0 mooFedd oo 2 8& 5 Qowy, 3 e& 4 QOWO, Tonw 7 g 9 aﬁoyo’o. sopY olnted

3+2x7=a%7?
(1) 17 (2) 49 (3) 35 (4) 81

70. WP uBeH FLTO wobT Posd, Wadrerod moBdSRL.

3 7 (=
81 169 Y
9. 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
#w%ﬁoﬁsghéy
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Alphabets :ABCDE

FGHIJ KLMNO PQRST UVWXYZ

67. ABCDE FGHIJ KLMNO PQRST UVWXY

68.

69.

In the given alphabetical series which is the 15th letter from the right end ?
(1) O 2) L
(3) K (4) P

Which number from the alternatives will replace the question mark in the box ?

‘5% 3 |S

© | < (o

7 2 45
(1) 25 (2) 10
(3) 61 4) 20

In a code language 2 is called 5, 3 is called 4 and 7 is called 9 then 3 + 2 X 7 =how much ?
(1) 17 (2) 49
(3) 35 (4) 81

70. Choose the correct option to replace the (?) question mark.
fe. 7 =
=Y 169 i
9. 4 | 5 4 G
(1) 225 (2) 196
(3) 256 (4) 235
Space for Rough Work
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@%dmdzABCDEFGHIJ KLMNO PQRST UVWXYZ

71. 20T Tooded¥ yoHed WIT = 456, WHT = 542 ToNR Y = 74 TIMRT k BYBIK

8 BuET Berf WSRO ? (AU @ wod Bonw WITNY ERETINE DoweRY; )
(1) 4747 (2) 4444

(3) 2424 (4) 2727

ags’)sa 72 Tonn 73 T Hooson Bewes e:#“d TN zaaim* sgosomﬂ Seek FPNS apj,%rf# w3
BodRFrodonvor noTHdd.

72.

73.

74.

75.

o ] 3 ) o ®© Q 5800 53
¥ | HBjo [ x A | ® =[]

'EPT’ B By cdns wRRvow SeeoRR0 ?

OO || A= @ Q=A%
OO =2A @ =LA

AN X e usiteos ans vy demommmes 2
(1) w2 (2) S
(3) = (4)  =oome
%#jc’o A RS amz:wagt BooW BANYET VTR0 WRBONO 9
(1)  23gcnodrt IRIWRYRY, (2)  ReobEROT BRBTEYOY,
(3)  ridoddnt epsens St (4)  ®3 duogsse g chromd SUORA e

NEON Vool WRABTIMITRoR0 FYNS IR 83030 S enBToTE 9
(1) 0% BROTWRY TR BITWTT

(2) DeOR BRoWHY, Wil BeodnwrTmd

(3) DeO8 Bro®s BIT TV, BPBBRW TR

(4) 208 BooBRY, TN LRFINTR.

nF FOTT,N IF
7] T @

0802 -A 30 of 32 P.T.O.




Alphabets :ABCDE FGHIJ KLMNO PQRST UVWXYZ

71.

In a code language TIN is written as 456 FIN is written as 542 and NO is written as 74
then how to write FONT is the same language ?

(1) 4526 (2) 6245
(3) 2657 (4) 2746

(Note - Letters and numbers are not necessarily in order)

Q72 and Q73 Direction: Observe the table of letters and symbols and answer the question

given below:

Rl S [T | E | M | A& [o|Y
¥ || [ X | A | ® [=])

72. Which symbol will be used to write the word 'MAYOR' ?
M A®| =3 XA ® =]
ONAYE=E S0 @ OLIX =&
73. Which word will be formed by using the symbols [+ | () X (%) AX X
(1) STEEMER (2) STEEMAR
(3) STEAMER (4) STAEMER
74. What will you do if your teacher appreciates the essay written by your friend ?
(1) will not talk to the teacher (2) will not talk to your friend
(3) will congratulate your friend (4) will tell everyone that only your essay is good.
75.  Which activity you think is correct to prevent the water reservoir from getting polluted ?
(1) Tobathe in the reservoir (2) Not to wash clothes
(3) Sit near the reservoir for toilet (4) To bathe the animals
Space for Rough Work
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